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1. LAN dk iw.kZ :i 
-----------------------

 gksrk gSA 
 

1. LAN stands for .............. . 

(A) Limited Area Network  (A) Limited Area Network 

(B)  Logical Area Network  (B)  Logical Area Network 

(C)  Large Area Network  (C)  Large Area Network 

(D)  Local Area Network  (D)  Local Area Network 

2. DOS esa dke djrs le; fiNyh mi;ksx dh 

x;h dekaM dks iqu% iz;ksx djus ds fy;s fdl 

QaD’ku dh dk iz;ksx fd;k tkrk gS \ 

 
2. While working with DOS, which function 

key is used to get the previous command 

used ? 

(A) F3  (A) F3 

(B)  F6  (B)  F6 

(C)  F9  (C)  F9 

(D)  F12  (D)  F12 

3. izksxzke tks ,d le; esa iwjs izksxzke dks e’khuh 

Hkk”kk esa ifjofrZr djrk gS] mls 
----------------

 dgk 

tkrk gSA 

 
3. A program that converts entire program  

into machine language at one time is 

called ............ . 

(A) baVjizsVj  (A) Interpreter 

(B) vlsEcyj  (B)  Assembler 

(C) vkWijsfVax flLVe  (C)  Operating system 

(D) dEikbyj  (D)  Compiler 
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4. 
--------------------

 dEI;wVj ekius vkSj fxuus nksuksa 

rduhd dk iz;ksx djrs gSaA 

 
4. .......... computer combine both measuring 

and counting. 

(A) ,ukykWx  (A) Analog 

(B) fMftVy  (B)  Digital 

(C) gkbfczM  (C)  Hybrid 

(D) mi;qZDRk lHkh  (D)  All of the above 

5. Mªkbo C : ls Mªkbo D : esa test.doc uke dh 

Qkby dks dkWih djus ds fy, 
------------------

 dekaM 

dk iz;ksx fd;k tk;sxkA 

 
5. The command used to copy a file named 

test.doc from drive C : to drive D :  

is ........... . 

(A) Copy test.doc to a :  (A) Copy test.doc to a : 

(B)  Copy c:\test.doc D :  (B)  Copy c:\test.doc D : 

(C)  Copy C : D :  (C)  Copy C : D : 

(D)  Copy test.doc C :  (D)  Copy test.doc C : 

6. os dkSu&ls ewY; gSa tks izksxzke ds fu”iknu ds 

nkSjku ugha cnyrs gSa \ 

 
6. What are the values which do not change 

during the execution of program ? 

(A) vpj  (A) Constants 

(B) pj  (B)  Variables 

(C) vkWijsVj  (C)  Operators 

(D) xyfr;k¡  (D)  Errors 
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7. CHKDSK dekaM dk iz;ksx fd;k tkrk gS % 
 

7. CHKDSK command is used to :  

(A) gkMZ fMLd dh =qfV;ksa ds fo’ys”k.k ds 

fy;s 

 (A) Analyze the hard disk error 

(B) gkMZ fMLd dh =qfV;ksa ds funku ds fy,  (B)  Diagnose the hard disk error 

(C) fMLd ij Qkbyksa dh fLFkfr tkuus ds 

fy, 

 (C)  Report the status of files on disk 

(D) mi;qZDr lHkh  (D)  All of the above 

8. 1 ckbV  
------------------------

 
 

8. 1 byte = .............. . 

(A) 8 fcV~l  (A) 8 bits 

(B) 4 fcV~l  (B)  4 bits 

(C) 2 fcV~l  (C)  2 bits 

(D) 9 fcV~l  (D)  9 bits 

9. eYVhizksxzkÇex flLVe 
---------------------

A 
 

9. Multiprogramming systems .............. . 

(A) ,dy izksxzkfeax flLVe dh rqyuk esa 

fodflr djuk vklku gSA 

 (A) are easier to develop than single 

programming systems. 

(B) izR;sd dk;Z dks rsth ls fu”ikfnr djrk 

gSA 

 (B)  execute each job faster. 

(C) ,d gh le; vof/k esa vf/kd dk;Z 

fu”ikfnr djrk gSA 

 (C)  execute more jobs in same time 

period. 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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10. dEI;wVj ds cwV gksus ij lcls igys dEI;wVj 

esa pyus okyk izksxzke dkSu&lk gS \ 

 
10. Which is the first program run on a 

computer when the computer boots up ? 

(A) flLVe lkW¶Vos;j  (A) System software 

(B) vkWijsfVax flLVe  (B)  Operating system 

(C) flLVe vkWijs’ku  (C)  System operations 

(D) ,Iyhds’ku lkW¶Vos;j  (D)  Application software 

11. fuEufyf[kr esa ls dkSu&lk vkWijsfVax flLVe 

eYVhVkÇLdx dks ykxw ugha djrk gS \ 

 
11. Which of the following operating systems 

does not implement multitasking ? 

(A) Windows 98  (A) Windows 98 

(B)  Windows 7  (B)  Windows 7 

(C)  Windows XP  (C)  Windows XP 

(D)  MS-DOS  (D)  MS-DOS 

12. ckbujh xq.ku (111)2 × (10)2 dk ifj.kke  

---------------------
 gSA 

 
12. The result of binary multiplication  

(111)2 × (10)2 is ................. . 

(A) 1101  (A) 1101 

(B)  0110  (B)  0110 

(C)  1001  (C)  1001 

(D)  1110  (D)  1110 

13. lHkh fMyhV dh x;h Qkbysa 
-----------------

 esa tkrh gaSA 
 

13. All deleted files go to ............. . 

(A) ekbZ dEI;wVj  (A) My Computer 

(B) MsLdVkWi  (B)  Desktop 

(C) fjlk;dy fcu  (C)  Recycle bin 

(D) ekbZ MkWD;wesUV  (D)  My Documents 
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14. ,d gh le; esa nks ;k nks ls vf/kd vuqiz;ksxksa 

ds lkFk dk;Z djus ds fy, fdl ‘kCn dk 

iz;ksx fd;k tkrk gS \ 

 
14. What is the term that is used when 

working with two or more applications at 

the same time ? 

(A) Maximizing  (A) Maximizing 

(B)  Minimizing  (B)  Minimizing 

(C)  Multitasking  (C)  Multitasking 

(D)  Task switching  (D)  Task switching 

15. MS-DOS esa] flLVe dh fnukad iznf’kZr djus 

ds fy, vki fdl dekaM dk mi;ksx djsaxs \ 

 
15. In MS-DOS, what command you will use 

to display system date ? 

(A) Date dekaM  (A) Date command 

(B) Ver dekaM  (B)  Ver command 

(C) Copy dekaM  (C)  Copy command 

(D) Format dekaM  (D)  Format command 

16. BASIC esa] fuEufyf[kr esa ls dkSu ,d ekU; 

vadxf.krh; ladkjd izrhd ugha gS \ 

 
16. In BASIC, which of the following is not a 

valid arithmetic operator symbol ?   

(A) +  (A) + 

(B)  –  (B)  – 

(C)  ×  (C)  × 

(D)  *  (D)  * 
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17. fuEufyf[kr esa ls dkSu MsVk dks LFkk;h :i ls 

laxzghr ugha djrk gS \ 

 
17. Which of the following does not store 

data permanently ? 

(A) ROM  (A) ROM 

(B)  RAM  (B)  RAM 

(C) ¶ykWih fMLd  (C)  Floppy Disk 

(D) gkMZ fMLd  (D)  Hard Disk 

18. COPY vkSj XCOPY nksuksa dekaM ,d gh 

vFkZ esa leku gSa % 

 
18. COPY and XCOPY commands are same 

in the sense : 

(A) nksuksa vkUrfjd dekaM gSaA  (A) Both are internal commands. 

(B) nksuksa ckgjh dekaM gSaA  (B)  Both are external commands. 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) nksuksa dk mi;ksx Qkby ;k Qkbyksa ds 

lewg dks dkWih djus ds fy, fd;k 

tkrk gSA 

 (D)  Both can be used to copy file or 

group of files. 

19. MS-DOS esa LØhu dks lkQ djus ds fy, 

fdl dekaM dk iz;ksx fd;k tkrk gS \ 

 
19. In MS-DOS, which command is used to 

clear the screen ? 

(A) CD  (A) CD 

(B)  CLS  (B)  CLS 

(C)  MD  (C)  MD 

(D)  RENAME  (D)  RENAME 
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20. BASIC izksxzkfeax esa IF-THEN-ELSE  

,d 
-------------------

 gSA 

 
20. IN BASIC programming IF-THEN-ELSE 

is .............. . 

(A) vlkbuesaV LVsVesaV  (A) Assignment statement 

(B) ywi LVsVesaV  (B)  Loop statement 

(C) daMh’kuy LVsVesaV  (C)  Conditional statement 

(D) vkmViqV LVsVesaV  (D)  Output statement 

21. BASIC izksxzke esa fVIi.kh fy[kus ds fy, fdl 

dFku dk iz;ksx fd;k tkrk gS \ 

 
21. Which statement is used for writing 

comments in the BASIC program ? 

(A) LET  (A) LET 

(B)  INPUT  (B)  INPUT 

(C)  PRINT  (C)  PRINT 

(D)  REM  (D)  REM 

22. v”Vd la[;k iz.kkyh dk vk/kkj 
-------------------

 gksrk 

gSA 

 
22. The base of octal number system is .......... 

(A) 2  (A) 2 

(B)  4  (B)  4 

(C)  6  (C)  6 

(D)  8  (D)  8 

23. ALU dk dk;Z gS % 
 

23. Function of ALU is : 

(A) funsZ’kksa ds fu”iknu dks fu;af=r djuk  (A) To control the execution of 

instruction 

(B) MsVk ij vadxf.krh; vkSj rkfdZd 

lapkyu djuk 

 (B)  To perform arithmetic and logical 

operation on data 

(C) ifj.kke dks eq[; eseksjh esa LVksj djuk  (C)  To store result in main memory 

(D) mi;qZDRk lHkh  (D)  All of the above 
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24. fuEufyf[kr esa ls dkSu&lk lcls ‘kfDr’kkyh 

dEI;wVj gS \ 

 
24. Which of the following is the most 

powerful computer ? 

(A) ekbØks dEI;wVj  (A) Micro Computer 

(B) feuh dEI;wVj  (B)  Mini Computer 

(C) eSuÝse dEI;wVj  (C)  Mainframe Computer 

(D) lqij dEI;wVj  (D)  Super Computer 

25. BASIC izksxzkfeax ,d 
-------------------

 Hkk”kk gSA 
 

25. BASIC programming is a/an ............ 

language. 

(A) mPp Lrjh;  (A) High level 

(B) e’khu Lrjh;  (B)  Machine level  

(C) vlsacyh  (C)  Assembly 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

26. eSXusfVd fMLd 
--------------------

 dk ,d mnkgj.k gSA 
 

26. Magnetic disk is an example of .......... . 

(A) lsdsaMjh eSeksjh  (A) Secondary memory 

(B) izkbejh eSeksjh  (B)  Primary memory 

(C) eSu eSeksjh  (C)  Main memory 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 

27. fuEufyf[kr esa ls dkSu ,d v”Vd la[;k ugha 

gS \ 

 
27. Which of the following is not an octal 

number ? 

(A) 15  (A) 15 

(B)  17  (B)  17 

(C)  19  (C)  19 

(D)  101  (D)  101 
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28. BASIC izksxzkfeax esa] fLaVªx pj 
-----------------

 fpUg ds 

lkFk lekIr gksuk pkfg,A 

 
28. In BASIC programming, string variables 

must end with a ........... sign. 

(A) #  (A) # 

(B)  %  (B)  % 

(C)  @  (C)  @ 

(D)  $  (D)  $ 

29. izFke ih<+h ds dEI;wVj dk eq[; ?kVd Fkk % 
 

29. Main component of first generation 

computer was : 

(A) VªkaftLVlZ  (A) Transistors 

(B) oSD;we V~;wCl  (B)  Vacuum tubes 

(C) baVhxzsVsM lfdZV~l  (C)  Integrated circuits 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

30. MS-DOS dh fdl Qkby esa vkUrfjd dekaM 

laxzfgr jgrh gS \ 

 
30. In MS-DOS, which file contains internal 

commands ? 

(A) IO.SYS  (A) IO.SYS 

(B)  MSDOS.SYS  (B)  MSDOS.SYS 

(C)  COMMAND.COM  (C)  COMMAND.COM 

(D)  CONFIG.SYS  (D)  CONFIG.SYS 

31. fuEufyf[kr dksM D;k fizUV djsxk \ 
 

31. What will the following code print ? 

PRINT “4 + 6”  PRINT “4 + 6” 

(A) 4 + 6  (A) 4 + 6 

(B)  10  (B)  10 

(C)  “4+6”  (C)  “4+6” 

(D)  “10”  (D)  “10” 
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32. MS-DOS esa Qkby dks ,d Mk;jsDVjh ls 

nwljh Mk;jsDVjh esa ys tkus ds fy, fdl 

dekaM dk iz;ksx fd;k tkrk gS \ 

 
32. In MS-DOS, which command is used to 

move file from one directory to another ? 

(A) RENAME  (A) RENAME 

(B)  COPY  (B)  COPY 

(C)  CP  (C)  CP 

(D)  MOVE  (D)  MOVE 

33. A16 dk ckbujh lerqY; gS % 
 

33. The binary equivalent of A16 is : 

(A) 1011  (A) 1011 

(B)  1010  (B)  1010 

(C)  1000  (C)  1000 

(D)  1110  (D)  1110 

34. vkWijsfVax flLVe dks 
--------------------

 ds uke ls Hkh 

tkuk tkrk gSA 

 
34. Operating system is also known as ........ . 

(A) MsVkcsl  (A) Database 

(B) flLVe lkW¶Vos;j  (B)  System software 

(C) gkMZos;j  (C)  Hardware 

(D) ,Iyhds’ku lkW¶Vos;j  (D)  Application software 

35. fo”ke dk p;u dhft, % 
 

35. Select the odd one : 

(A) vkWijsfVax flLVe  (A) Operating system 

(B) bUVjizsVj  (B)  Interpreter 

(C) dEikbyj  (C)  Compiler 

(D) vlsEcyj  (D)  Assembler 
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36. fuEufyf[kr esa ls dkSu vkWijsfVax flLVe gS \ 
 

36. Which of the following is/are operating 

systems ? 

(A) Windows  (A) Windows 

(B)  Unix  (B)  Unix 

(C)  OS/2  (C)  OS/2 

(D) mi;qZDr lHkh  (D)  All of the above 

37. 
------------------

 dk mi;ksx dkxtksa ij js[kkadu vkSj 

fMtkbu rS;kj djus ds fy, fd;k tkrk gSA 

 
37. ............ are used for plotting graphs and 

design on papers. 

(A) IykWVj  (A) Plotters 

(B) VªSdckWy  (B)  Trackball 

(C) tkW;fLVd  (C)  Joystick 

(D) ykbV iSu  (D)  Light Pen 

38. MS-DOS esa] DIR dekaM dk iz;ksx fd;k 

tkrk gS % 

 
38. In MS-DOS, DIR command is used  

to : 

(A) funsZf’kdk esa Qkbyksa dh lwph iznf’kZr 

djus ds fy, 

 (A) Display a list of files in a directory 

(B) funsZf’kdk esa Qkbyksa dh lkexzh iznf’kZr 

djus ds fy, 

 (B)  Display contents of files in a 

directory  

(C) ,d mi&funsZf’kdk esa Qkbyksa ds izdkj 

iznf’kZr djus ds fy, 

 (C)  Display type of files in a 

subdirectory 

(D) mi;qZDRk lHkh  (D)  All of the above 



 

AG-706 ( 14 )  Set-B 

39. tc dksbZ dEI;wVj pkyw gksrk gS rks cwfVax 

izfØ;k 
-----------------

 dks fu”ikfnr djrh gSA 

 
39. When a computer is switched on, the 

booting process performs ............ . 

(A) Integrity Test  (A) Integrity Test 

(B)  Power on Self Test  (B)  Power on Self Test 

(C)  Correcting Function Test  (C)  Correcting Function Test 

(D)  Reliability Test  (D)  Reliability Test 

40. baVhxzsVsM lfdZV dEI;wVj dh fdl ih<+h ls 

lEcfU/kr gS \ 

 
40. Integrated circuits are related to which 

generation of computers ? 

(A) igyh ih<+h  (A) First Generation 

(B) nwljh ih<+h  (B)  Second Generation 

(C) rhljh ih<+h  (C)  Third Generation 

(D) pkSFkh ih<+h  (D)  Fourth Generation 

41. dEI;wVj dbZ rjg ls MsVk esa cnyko djrs gSa 

vkSj bl rjg ds cnyko dh izfØ;k dgykrh 

gS % 

 
41. Computers manipulate data in many ways 

and this mainpulation is called : 

(A) vixzsfMax  (A) Upgrading 

(B) izkslsflax  (B)  Processing 

(C) cSÇpx  (C)  Batching 

(D) ;wfVykbftax  (D)  Utilizing 



 

AG-706 ( 15 )  Set-B 

42. fuEufyf[kr esa ls dkSu&lh izksxzkfeax Hkk”kk ugha 

gS \ 

 
42. Which one of the following is not a 

programming language ? 

(A) BASIC  (A) BASIC 

(B)  COBOL  (B)  COBOL 

(C)  C++  (C)  C++ 

(D)  MS-Excel  (D)  MS-Excel 

43. ALU vkSj daVªksy ;wfuV dks la;qDr :i ls 

---------------
 ds :i esa tkuk tkrk gSA 

 
43. ALU and control unit are jointly known  

as ............ . 

(A) RAM  (A) RAM 

(B)  ROM  (B)  ROM 

(C)  CPU  (C)  CPU 

(D)  PC  (D)  PC 

44. Mslhey la[;k 75 dk f}vk/kkjh lerqY;  

gS % 

 
44. The binary equivalent of decimal number 

75 is : 

(A) 1001011  (A) 1001011 

(B)  1011001  (B)  1011001 

(C)  1101001  (C)  1101001 

(D)  1011110  (D)  1011110 

45. QBASIC foaMks dh LØhu dks lkQ djus ds 

fy, fdl dekaM dk mi;ksx fd;k tkrk gS \ 

 
45. Which command is used to clear the 

screen of QBASIC window ? 

(A) CLR  (A) CLR 

(B)  CLS  (B)  CLS 

(C)  REM  (C)  REM 

(D)  LET  (D)  LET 
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46. 
--------------- 

,YxksfjFe ds lfp= fu:i.k ds :i esa 

tkuk tkrk gSA 

 
46. Pictorial representation of an algorithm is 

known as ............. 

(A) ¶ykspkVZ  (A) Flowchart 

(B) izksxzke  (B)  Program 

(C) L;wMksdksM  (C)  Pseudocode 

(D) flaVsDl  (D)  Syntax 

47. ,d le; esa] ,d ykbu esa mPp Lrjh; Hkk”kk 

izksxzke dk vuqokn vkSj fu”iknu djus okys 

lkW¶Vos;j ds :i esa 
-----------------

 dks tkuk tkrk gSA 

 
47. Software that translates and executes a 

high level language program in one line 

at a time is known as .......... . 

(A) dEikbyj  (A) Compiler 

(B) baVjizsVj  (B)  Interpreter 

(C) vlsEcyj  (C)  Assembler 

(D) ,DthD;wVj  (D)  Executor 

48. MS-DOS esa Qkby dk uke cnyus ds fy;s 

fdl dekaM dk iz;ksx fd;k tkrk gS \ 

 
48. In MS-DOS, which command is used to 

change the file name ? 

(A) REN  (A) REN 

(B)  RENAME  (B)  RENAME 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) RD  (D)  RD 
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49. izksxzke esa xyrh lgh djus dks 
----------------------

 ds uke 

ls tkuk tkrk gSA 

 
49. Resolving errors in a program is known 

as ............. 

(A) fMcfxax  (A) Debugging 

(B) djsD’ku  (B)  Correction 

(C) ,jj psfdax  (C)  Error checking 

(D) izkWCye lkWfYaox  (D)  Problem solving 

50. ¶ykspkVZ esa] VfeZuy izrhd ds :i esa 
-------------------

 

iz;ksx fd;k tkrk gSA 

 
50. In flowchart, the terminal symbol is 

denoted by ............. 

(A)   (A)  

(B)   (B)  

(C)   (C)  

(D)   (D)  

51. f}vk/kkjh la[;k ¼1000½2 Mslhey la[;k 
---------------

 

ds cjkcj gSA 

 
51. Binary number (1000)2 is equivalent to 

decimal number : 

(A) 1000  (A) 1000 

(B)  4  (B)  4 

(C)  8  (C)  8 

(D)  16  (D)  16 

52. f}vk/kkjh la[;k 1 $ 1 $ 1 dk tksM+ 
------------

 

gksrk gSA 

 
52. The binary addition 1 + 1 + 1 gives 

.............. . 

(A) 10  (A) 10 

(B)  110  (B)  110 

(C)  111  (C)  111 

(D)  11  (D)  11 
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53. ckbujh la[;k ds ?kVko (100)2 – (011) dk 

ifj.kke 
--------------

 gksxkA 

 
53. The result of binary subtraction  

(100)2  – (011) is .............. . 

(A) 111  (A) 111 

(B)  011  (B)  011 

(C)  010  (C)  010 

(D)  001  (D)  001 

54. izksxzkfeax Hkk”kk ds fu;e 
---------------------

 dgykrs gSaA 
 

54. Rules of a programming lanauage are 

called .............. 

(A) izfØ;k  (A) Procedures 

(B) flaVsDl  (B)  Syntax 

(C) rjhdk  (C)  Methods 

(D) rdZ  (D)  Logic 

55. dkSu&lh dekaM ,d funsZf’kdk ;k mifunsZf’kdk 

cukrh gS \ 

 
55. Which command creates a directory or 

subdirectory ? 

(A) MD  (A) MD 

(B)  CD  (B)  CD 

(C)  MKDIR  (C)  MKDIR 

(D) (A) vkSj (C) nksuksa  (D)  Both (A) and (C) 

56. csfld izksxzkÇex esa] fuEufyf[kr dksM D;k 

mRiUu djsxk \ 

 
56. In BASIC programming, what will the 

following code produce ? 

FOR I = 0 TO 5 

PRINT I 

NEXT I 

 FOR I = 0 TO 5 

PRINT I 

NEXT I 

(A) 1 ls 5 rd uEcj fizaV gksaxs  (A) Print number from 1 to 5 

(B) 0 ls 5 rd uEcj fizaV gksaxs  (B)  Print number from 0 to 5 

(C) 0 ls 10 rd uEcj fizaV gksaxs  (C)  Print number from 0 to 10 

(D) 1 ls 10 rd uEcj fizaV gksaxs  (D)  Print number from 1 to 10 
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57. VSªdckWy ,d 
---------------------------

 gSA 
 

57. Trackball is a/an ............... . 

(A) buiqV fMokbl  (A) Input device 

(B) vkmViqV fMokbl  (B)  Output device 

(C) izksxzkfex ySaXost  (C)  Programming language 

(D) lkWW¶Vos;j  (D)  Software 

58. dkSu&lh dekaM ,d gh uke ysfdu 

vyx&vyx ,DlVsa’ku okyh lHkh Qkby dks 

iznf’kZr djrh gS \ 

 
58. Which command displays all files  

having same name but different 

extensions ?  

(A) DIR filename .*  (A) DIR filename .* 

(B)  DIR filename . ext  (B)  DIR filename . ext 

(C)  DIR *.*  (C)  DIR *.* 

(D)  DIR *.ext  (D)  DIR *.ext 

59. fdl izdkj ds dEI;wVj esa MsVk dks vlrr~ 

ladsrksa ds :i esa n’kkZ;k tkrk gS \ 

 
59. In which type of computer data are 

represented as discrete signals ? 

(A) ,ukykWx dEI;wVj  (A) Analog Computer  

(B) fMftVy dEI;wVj  (B)  Digital Computer 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) gkbfczM dEI;wVj  (D)  Hybrid Computer 

60. Mk;jsDVjh dks fMyhV djus ds fy, fdl 

dekaM dk iz;ksx fd;k tkrk gS \ 

 
60. Which command is used to delete the 

directory ? 

(A) DEL  (A) DEL 

(B)  FORMAT  (B)  FORMAT 

(C)  RD  (C)  RD 

(D)  MOVE  (D)  MOVE 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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